
  

IP Coupled Matrix

Had 6 measurement. Three are good.

Case 1 Case 2 Case 3

Value ±σ Value ±σ Value ±σ

α
1

0.00176 0.01068 0.00147 0.03946 0.01762 0.00940

β
1

10.184 0.142 10.108 0.212 9.941 0.126

α
2

0.02397 0.00756 0.01478 0.01473 0.00773 0.00582

β
2

9.737 0.109 9.673 0.205 9.519 0.112

a -0.0336 0.0070 -0.0398 0.0059 -0.0341 0.0035

b 0.4383 0.8573 0.9132 0.6877 1.2221 0.3278

c -0.0048 0.0085 -0.0096 0.0069 -0.0147 0.0032

d -0.0542 0.0081 -0.0386 0.0158 -0.0538 0.0062

χ2 1.56 4.92 0.94



  

Case 2

Two solutions found



  

Case 3

Two solutions found.



  

Summary

● The errors are fairly large
● Method requires several measurements to get 

reliable results
– Only way for choosing between the multiple 

solutions

● Haven't analyzed with the Raw Artus data yet
● Needs to be tested with a coupled machine
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